
 
 
 

ASSEMBLY OF  
WOOD PEDESTAL TABLE 

 
      

 
 
 
 

         TOOLS REQUIRED:   1/2" DEEP WELL SOCKET 
             #2 PHILLIPS HEAD SCREWDRIVER 

 

    
 
 



   a)  OPEN TOP OF PEDESTAL BOX 
    (assembled pedestal & pedestal batten enclosed) 

 

 
 

   b) ASSEMBLY HARDWARE ATTACHED TO BATTEN 
 

     
 
   c)   PLACE BATTEN ON TOP OF PEDESTAL 

 

 
 
 



   d)   USING HARDWARE PROVIDED (Qty 4: 5/16-18 Hex Nut & 
    Qty 4:  5/16 Flat Washer) – ATTACH BATTEN TO BASE 
    (requires 1/2" deep well socket) 

 

 
 

   e)   INVERT TOP ONTO SOLID CLEAN WORK SURFACE 
 

 
 
 

   f)   FLIP PEDESTAL ASSEMBLY AND ALIGN WITH GROOVE &  
    PILOT HOLES ON BOTTOM OF TOP 

 

    



      g)   USING HARDWARE PROVIDED (Qty 12:  #6 x 1 1/4" Bugle  
    Head Drywall Screw) SECURE PEDESTAL TO BOTTOM   
    OF TOP 
    (requires #2 phillips head screw driver) 

 

    
 

 
 
 


